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1.Javier makes hand-looted learner dog collars. The materials cost $10 per collar and the collars are
sold for $50 each. Javier sells me collars at a local farmer's market mat charges S100 per month for
space rental if Javier's income tax rate is 30%, how many collars must Javier sell each year to earn
$1,000 net income?

A. 29

B. 53

C. 66

D. 263

Answer: C

2.A foreign subsidiary of a U S company has an intercompany loan from the parent company.
Which one of the following statements about the subsidiary's functional currency is true?

A. It should be the U S dollar if the local currency is hyper inflated

B. It should be determined by the management of the U.S. Company

C. ltis the US dollar because the parent company is in the US

D. Itis the U S dollar because the subsidiary has an intercompany loan from the parent company
Answer: A

3.A company had an operating cycle of 110 days, a cash cycle of 40 days, and an accounts receivable
period of so days. The company s inventory period and accounts payable period are

A. inventory period = 50 days ana accounts payable period - 150 flays

B. inventory period = 70 flays and accounts payable period = 50 flays

C. inventory period = 10 days and accounts payable period = 50 days

D. inventory period = 50 days and accounts payable period = 70 days

Answer: D

4.Below is the income statement and balance sheet for a retail corporation.

Inwl Yemrd
Solgs 5800 £5.000
Ceit of goods sold N L
(Ginoes Prafl 1,780 3,000
Cperanng expenss 500 i}
Ciperabing mcoma 1280 2.300
Nom=oparating sxpanss 450 300
Nl incoms § B0 82000
Cant $1.000  §2,000
ACCounls receivable 500 1,500
Inverdory B0 800
Frapal expampgs 200 0]
Fl-&lﬂ':fi":--;‘“:s 4300 a0
Telal afield 26 T 8800
ACCOUME Dy a0 SI00 81400
ACCTEBE S5 0an B 1,005 1,250
Short-laem ot T80 500
Lorg-1srm dabl 1,005 259
Tl &) Habitees 3,500 3850
Eguty 1380 5150
Total Listiibes & aguy S6T00  §B.BOD
What is the corporation's debt to total capital in year 2?
A 71%
B. 41%
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C.19%
D. 6%
Answer: C

5.Genco Healthcare has asked ns controller to summarize the company’s financial performance for the
past two years. The accountant provided the following two years financial ratios for reference.

A. Less liquid mote profitable more solvent

B. Less liquid mote profitable less solvent

C. More Liquid Less profitable less solvent

D. More liquid, less profitable mote solvent

Answer: B
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